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4) Express sin(5) in beris of sin 0.

Sin SB

1}

s (O +46)

3

PO s bl A+ 3@ skl
= Stb\@'(f(ﬂ_QS?P\a’276>

Feo 0. (2 5426 cos2 )

e

s . (1-2. (_Q.s*MQcoJQ)L>

-+ CJQ\)@' 1(2 s(\-\.@&m 61) ' (4 F'QSML @)

———t

S0 .H - § st B cos )

4 4 sMO oy O (A-2sM Q)

= s . (4.., st - (/\#-S'M""B))

+4 s ® . (A-s B (A- 25 9)

T«“‘( § s - 20 596 + 16 SMSU{/

MTI)Q1]10Q21Q3104]|0Q3

Back to Calculus Page

http://www fen.bilkent.edu. ti/~otekman/math 1 11/£03/m1 g4 . htmi 18.10.2010



Midterm I Question 5

MTI| Q1102103104105

3) IMind {oe following Hmits:
=

X
VA s -3 s X4¥ 3

:.i) hm [ onn,

= fin

x ’

.

7= Sy%y + 3

S L

: ! % - (arh)
b) lim (e "i;); R 2 :u m
f; ~2nlir ¢
Hg"“’ za(,ﬁh)
~ ”31+& 7
TARES Ctul») )
.

MTI{Q1102|03]|04|05

Back to Calculus Page

http://www. fen.bilkent.edu.fr/~otekman/math 1 1 1/£03/m1gS.html

(J§:M 3)(¢'ﬁ5+33
X -2 = (f&v\j (Mf3)
7

Page 1 of 1

b -1 e+ o -1 ' x| (2’4‘%"&)3 }(-ﬂl}x‘/”f)

18.10.2010




